https://lwww.leads4pass.com/510-022.html

L Qads 4 PQSS 2024 Latest leads4pass 510-022 PDF and VCE dumps Download

510-0229%As

Sybase adaptive server Enterprise administrator professsional

Pass Sybase 510-022 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/510-022.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Sybase
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest 510-022 Dumps | 510-022 Study Guide | 510-022 Braindumps 1/3


https://www.leads4pass.com/510-022.html
https://www.leads4pass.com/510-022.html
https://www.leads4pass.com/510-022.html

https://lwww.leads4pass.com/510-022.html
2024 Latest leads4pass 510-022 PDF and VCE dumps Download

QUESTION 1

Which of the following commands will not perform a checkpoint on the database?
A. dump database

B. dump tran

C. dump tran...with no_truncate

D. dump tran... with truncate_only

Correct Answer: C

QUESTION 2

ASE writes a Compensation Log Record

A. At the beginning of every transaction

B. At the beginning of every transaction log dump
C. If alogged data change is rolled back

D. If a logged data change is committed

Correct Answer: C

QUESTION 3

Which of the following statements are true about named caches?(Choose 2)
A. A named cache can have no more than 2 buffer pools.

B. A transaction log can only be bound to a fixed cache

C. Every named cache must have a single-page buffer pool

D. The default size of a named cache is 10 MB

E. The minimum size of a named cache is 256 pages.

Correct Answer: CE

QUESTION 4
Which of the following does the optdiag utility NOT report ?

A. When statistics were last updated
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B. Table size
C. How often an index is used
D. Distribution of values in a column

Correct Answer: C

QUESTION 5

Which of the following statements about the ASE transaction log are TRUE?(Choose 3)
A. The transaction log can be truncated upt to the oldest checkpoint

B. Consecutive dumps of the transaction log must overlap log pages.

C. The size of a transaction log dump is proportional to the amount truncated.

D. the transaction log can be truncated up to the oldest committed transaction

E. A database can be brought online for read only access after loading a transaction dump, without preventing further
loads.

Correct Answer: CD
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